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Variable t=[0:0.01:200],y1=0,y2=2,y3=9;
Plot y1[x],y3;

ODEFunction

yI'=-10%(y1-y2);

y2'=30*yl-y1*y3-y2;
y3'=-8/3*y3+yl*y2
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LoopConstant ¢c=[1,2,5,10,15,20];
Variable t=[0:0.01:200],y1=0,y2=2,y3=9;
Plot y1[x],y3+c;

ODEFunction

ylI'=-10%(y1-y2);

y2'=30%yl-yl*y3-y2;
y3'=-8/3*y3+yl*y2*c;
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LoopConstant a=[-1:0.01:2];
Variable t=[0:0.01:2], x=(-a+1)"2;
Plot x[x],x";

ODEFunction x'=-1*t*x-a*sin(t-x*a);
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LoopConstant a=[0:0.05:10];

Variable x=[0,3-a/2], =0, g=0.1-a;

ODEOptions = [SN=100];

Plot f[x],f,g',-f-g,-f'-g';

ODEFunction f'=3*f+4*g;
g'=-4*f+3*g;
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LoopConstant c=[1:0.05:6];

Variable t=[0:0.01:3.5],x'=-0.012185,x=-0.0021512,y=-0.0021512,y'=-0.2;
Plot x[x].x,c*x"+y [y2] x"+y\(x"+y*y);

ODEFunction
x"=c*(-16000*t-160-(200000*x-800*y'-80000*y+2000*x"))/185;
y"=c*(1600*t+16-(-8000*x+80*y'-80*x'+8000*y))/16;
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LoopConstant a=[-3.5:0.1:3.5];

Variable t=[0:0.05:10],x=a*2,y=-a;

Plot x[x],y,sinh(0.45*y),sinh(0.75*y),sinh(y);

ODEFunction x' = 2*(Sin(t) - x+y)/Sqrt((Sin(t) - x)*2 + (Cos(t) - y)"2);
y' = 2*(Cos(t) - y+x)/Sqrt((Sin(t) - x)"2 + (Cos(t) - y)"2);
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LoopConstant a=[-3.5:0.1:3.5];

Variable t=[0:0.1:10],x=2*a,y=a"2;

Plot x[x],y, y+x/2, y+x, y/2+x;

ODEFunction x'=2*(Cos(t)-x+y)/Sqrt((Sin(t)*y-x-0.1)"2+(Cos(t)*x-y)"2);
y'=2*(Sin(t)-y+x)/Sqrt((Sin(t) *y-x-0.1)"2+(Cos(t) *x-y)"2);
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LoopConstant a=[-1:0.05:6];
ODEOptions = [SN=200];
Variable t=[0,10*pi],x1=1,x2=1;
Plot x1[x],x2,x1'[y2],0.2*x2-x1";
ODEFunction x1'=-0.1*x1-x2+a;
x2'=x1-0.1*x2%*a;
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LoopConstant £=[0.01:0.01:0.4];
Variable t=[-50,50], u=0, u'=2.05;
ODEOptions = [SN=1000];

Plot u[x],u',0.2*u*u"-0.85*u";
ODEFunction u"=-f*u'-sin(u);
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LoopConstant a=[-0.9:0.02:1.5];
ODEOptions = [SN=50];

Variable t=[0,2], x=(-a+1)"2;
PassParameter c=In(sin(x')*cos(x)"2+8.5);
Plot x[x],x',c;

ODEFunction x'=-1*t*x-a*sin(t-x-a);
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LoopConstant a=[-1:0.02:5];

Variable x=[0:0.1:4], y=0, y'=0;

Plot y[x], y', y"y*y'y™*y";
ODEFunction y"=2*cos(x) - x*sin(x-a);
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LoopConstant a=[0:0.01:4];

Variable x=[0,4+a], y=a,y'=0.4"a;

Plot y[x]y\y", (2*y"-y");

ODEFunction y"=10-(y'*cos(x+a)+a*y);
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LoopConstant c=[0.1:0.01:2];

Constant a(3)=[0,-1.5,1], b(3)=[2,0,-1.5];

Variable t=[0:0.02:10],x=1,y=1;

Plot x[x],y,x,y";

ODEFunction x'=c*x*(al *xt+a2*y+a3);
y'=y*(bl*x+b2*y+b3);
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